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B il

H B, BERIAEERN:
wWAHaE 1

Mg EES 115200 bps
R 300 ms
KILZZERT 0 ms

i)

EEWUE IR N81/E71/071; R ARG, AFAAHKE:
{H MODBUS RTU i HsckF N81 ## !

B [FEE SR 3 MEE YN, REGEZNRM, AP LHIRE: W
MODBUS ASCII / MODBUS RTU / SCPI
B SCPI thiliyE
1) [FEEisrs - 25 *
2) XFF 2 PSS BIZERATC\A\N ) A #ATC\n ) o EEUUE R AT
3) FHRRZHENG
MODBUS &g & A etk
AR EiFeE it e/ i KE | NI | AR S pad
0 7 32Bits sz
A (Nm) 1 R | 3Bits || 3 | R
. 2 7 A 32Bits i
Fe3 (RPW) 6 | BMe uemE | 6Bics | 0 | i
N 20 EI=E 32Bits R
Pz (KW) 20 | BE R | 32Bis | 3 | N
16 7 A 32Bits Wi | [ EfE 3. 14
e 16 Ayl 32Bits Bk | i 2 {E 0x4048F5C3
JEAZ IR — : — :
16 Ayl 16Bits HAsE | [E e {E 0xF5C3
17 Ayl 16Bits s | [ EfE 0x4048
B bk 376 TofF 5 13k % | 16Bits 0 BB | %1 WiHEsg
S 353 T B35 | 16Bits 0 BB | %1 WiHsT
AT 355 TeRF 5% | 16Bits 0 BE | %1 WHEAA
KIAEFERF 354 TofF 5 13k % | 16Bits 0 BEE | X1 WrHLRAT

1 e hEYERE 1-254

W SHETEE 0-6; 0-2400 1-4800 2-9600 3-19200 4-38400 5-57600 6-115200 bps
SR 10-999 ms
RIKIERFJEHE 0-99 ms
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SCPI EA154
K% B B/IE

SGEEMIERY *ping *ok ping

A *reset *ok reset L/ =X A

BRI Z | *measure? *1,123 654 4,567 | {55, FEHEFMIRMEE KT
BLAHRE *measure:torque? | *1.123 A7 Nm

R *measure:speed? | *654 ;. RPM (/430

DY *measure:power? | *4,567 BT Kw

10 -k i& e FE ) E], V. ms X1

H 3l K& *autosend 10 999 | *ok autosend 999_?':1;;5;?;;1 i%%é&ﬁ < 3
Hz k%KM | *autosend stop *ok autosend stop AJ LAY -1 B8R off ¥

X 1 BCE 0 MITCTal ke A At AR H R
RS485 (57530, WERIBIRGN [/, SEe—BEPROR G, okl !
X 2 WIAREREN 0 5 (HATUAHBE (E), —BEMMFRAENELSRE

SCPI B3 Ri%
lilE3 ik I

H 3 KL A *autosend 10 999 *ok autosend
fid R HRE % *measure:torque? *1,123
HIFE H B RiEH 2 *1.124
HEESRES - |,

5 H 3 Ki%EH 1000 *1.122

H 3 K32 < 1] *autosend stop *ok autosend
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SCPI HEHE
%% | *comport?-t BB ERLE
FEU§ | *address=1 baudrate=115200 timeout=300 tdelay=0 | (i 3CA)
%% | *comport?

N
$21 | *1 115200 300 0 BB ERCE
%% | *comport:address? N
%1% | *comport:baudrate?

52y ZZ
U | *115200 PR
%% | *comport:timeout? \

I | %300 LA R I
&i% | *comport:tdelay? o
%i% | *comport:address 1

=
FEUWL | *ok comport 5 B b
%3% | *comport:baudrate 115200 .

i | = S EEES
FEUWL | *ok comport
\\* * . -
&:1_ comport:timeout 300 V-
FEUL | *ok comport
%1% | *comport:tdelay 0
= SRR
FEUL | *ok comport SRIEIER
B!
1. W&HbEVERE 1-254

2.
3.
4

W K52 FF 2400/4800/9600/19200/38400/57600/115200 bps

SERFHEIYEE 10-999 ms
KRILLERTYEE 0-99 ms
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SCPI ¥ a4
%3% | *measure?-%f LA 1 P g =
FEU | ¥1.123446 654.345546 RN 6 £
%1% | *measure?-%e JLH 1 Mg
FEU | *1.123446e+00 6.543455e+02 T ks X
%% | *measure?-%f-%e Hm s T
FEU | *1.123446 6.543455e+02 AT ARuE X
%1% | *measure?-%0.3f-%0.1f B X Ir
FEU | *1.123 654.3 E{EDAERA N DA
%1% | *measure?-torque: %0.3fNm-speed: %0.0fRPM | $3E#& =20 T
FEUL | *torque:1.123Nm speed:654RPM R ARG R

S

1. measure 584 H3CHF -%fF 1 -%e HdEkAY
2. measure? measure:torque? measure:speed? #E[LMEH -% #Hithig
3. BRRETTAZ M C FEREL printf



